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INDICES

Considera™ =axaxax........ n times

Here ‘@’ is called the base and n is called the power or
index

LAW 1 a™ xaq® =qgmtm
m

LAW?2  Z—=gm~—n

an

AW 3 (a™"=a™*"
AW 4 (ab)™=a™ x b"
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INDICES

IMPORTANT

-a’=1

=/a =al/?

=3/a =al/3

Mg = gl/m

ll—a_l

a

| a_m :i

am
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INDICES

a) 43 x44 - 7

b) (571) " =72

c) x~ xx6=?
1

=7
d) G

e) (2x2)° x (4x3)° =

g) If 2**3 =16, find

4 February 2021 © THE INSTITUTE OF CHARTERED ACCOUNTANTS OF INDIA



INDICES

Ex 1 Cpage 1.21
1.  4x'/*is expressed as

(a) —4x/¢ (b) x! (c) 4/x17/4 (d) none of these
2. The value of 8 is

(a) A2 (b) 4 (c) 2 (d) none of these
3. The value of 2 x (32) /3 is

(a) 2 (b) 10 (c) 4 (d) none of these
4. The value of 4/(32)V/5 is

(a) 8 (b) 2 (c) 4 (d) none of these
5. The value of (8/27)"° is

(a) 2/3 (b) 3/2 (c) 2/9 (d) none of these
6. The value of 2(256)'/* is

(a) 1 (b) 2 (c) 1/2 (d) none of these
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INDICES

BIx' )
—— | has simplified value equal to

y

(a) xy? (b) x?y (c) 9xy? (d) none of these
9. x*" x x"¢ x x** is equal to

(a) x (b) 1 (c) 0 (d) none of these

2p’q" )

10. The value of [ Iny J where p, q, x, y # 0 is equal to

(a) O (b) 2/3 (c) 1 (d) none of these
11. {(3%)7 x (42F x (5%} / {(3)’ x (#)* x (57} is

(a) 3/4 (b) 4/5 (c) 4/7 (d) 1
12. Which is True ?

(a) 2° > (1/2)° (b) 2° < (1/2)° (c) 2° = (1/2)° (d) none of these
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24.

25.

26.

27.

INDICES

Using (a-b)*® = a*-b*-3ab(a-b) tick the correct of these when x = p'/? — p-1/3
(@) x*3x=p+1/p b)x*+3x=p-1/p ()X +3x=p+1 (d) none of these
On simplification, 1/(1+a™"+a™?) + 1/(1+a~™+a"P) + 1/(1+aP™+apP™) is equal to

(a) 0 (b) a (c) 1 (d) 1/a
[xﬂ JEHb [xb Jbﬂ: [xc Jcﬂa
Thevalueof | 4 | *| — A T=
X X X
(a) 1 (b) 0 (c) 2 (d) none of these

1 1
If x=3%+3 3 then 3x~-9xis

(a) 15 (b) 10 (c)12 (d) none of these
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INDICES

28. Ifa*=b, b’ =c, c* = a, then xyz is

(a) 1 (b) 2 (c) 3 (d) none of these
L 3 (a+ab+b”) b 3 (bP+be+c?) o (T +ca+a’)
X X X
29. The value of [—bJ K[—CJ x[—ﬂJ
X X X
(a) 1 (b) O (c) -1 (d) none of these
1 +1+ 1 15
30. If2X=3" =67 Xy z
(a) 1 (b) 0 (c) 2 (d) none of these
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INDICES - AQB

6172 % 6273 %
Thevalueof | 73— | ~* is

67 6°77

(@) 0 (b) 252 () 250
2/7 2/5 9/7 5/6

The value of ‘;_”2 X IZM X 22;‘3 X ;_m 1S

(a) 1 (b) -1 (c) 0

2x+3x 32x—}'x 5x+}r+3x 6:,,r+1

On simplification reduces to

6x+lx 10:’“'_3}{ 15:{
(a) -1 (b) O (c) 1
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(d) 248

(d) None

(d) 10




INDICES- AQB

13. It 2% = 4x8x16, then (x+y)*is equal to

(a) 16 (b) 81 (c) 32

17. The value of z is given by the following if 7V = (Z\/Ej

3

@)2 ®) 5 © -

21. It x=4% -|-4% prove that 4x°-12x is given by
(a) 12 (b) 13 (c) 15
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(d) 64

(d)

(d) 17
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